CCE MODEL TEST PAPER 3

SELOND T ER'\‘I {SF\-II}
MATHEMATICS
- {With Answers}

CLASS X

(‘Lnemi !nstrucizons :- C e
- (8- Al Juestons are zr}mpﬂfmn -
{n} The question pager consists of 3 ?-J z;zrm tions divided, mm four secrions A, B, C m:d D Sea:zon A
comprises of 10 questons ef I mm& each, Section D comprises of 8 questions f:;f 2 niarks ecch,
Lo Seetion C mz:zg;mes‘ of iD qz:mzzo.ru q,f’ 3 :zzarl.s edch and Section D comprises {{f 6 qzeewwzi‘ of
- 4 nigris each, . o '
tai } Question surntbers T to Zﬂ‘w .Sec;mn .4 {;rc nm{zgp?e choice Hirstony w }uw w;: are m 'rg!ezr:‘f ane.
' correct option ot of the given forr, ' : _
{iv) There is no overall cholce. However internal choice has beew pros ided in I qf:&ff:ou f;-f o
o marks, X geestions of three marks e:rcfz and 2 questions af, fmgr marks eac }z }oa !m.e fa a:fe-mpr_
- onby one of the alternatives inall s:ﬂ;fz {;{{csrmm R S :
(v} Us:! a_,"ca!wiﬂfafs i not pm:zzzz‘ed : L gl

Qm «:zgan zzzmzber\; [ w ;‘ r_‘} are r,y" one man& mcz} _ :

.. L Which ter Uflhc scqubncc-i AT B8 9‘2 T
3._'j-”§gg} I5¢h tecm - e '._ \ (h} 74!]1 erm

() adeerm o T J €y 23¢d term e

T 2, Ifa and B are thc Tools of thc cqu.u:on r + dx + 5 = O, then the cqu*ztzmz whoﬂ; roots are
“-{u+ band B+ D is :

Eu}“.l’"+ 2+l {} - A\ : {&} Eo2+2=0
3.. Ifihrce, coing are tnss-cd sxmu!t:nmusiy thcn the pmbﬂbifit} 0F Eetting at ¥r.=1at two ht:'u.ls zs '
,ca> L } {b) - o '
oy
s @l

¥ 4 A cyi;nder and a cnm., 'm: nf samc bamc. rulzug and oi' same IT"”““ The r;mo oi zhﬁ *mlume of :
1'C}iznd.cr Ha) tth of cone js ' RS iR
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5. Ifthe following Bt i3 sector _[_1? geteele of adius 10.5 e, thied the porimeter of e sector i,

(u} 30 cin - . § _ o (0)-A2 emi
{’f,) 78 o ' ({I} Jd l:nz

o {izcn zhc r:;le £3 of thc cm.ic is

Y 4cn1

C(ay Yem - L
Aey-dTme - SRR >
- 7..The 'sirmx: ‘of a l.m:: is 2[10 meires %nng anl i makcs' an Jng._ of 6{30 x’zzh horuonml. nqqumlnL

" that there ¢ s no slack in the string, The %zughi ﬂf (hl.. kitc i$

o g*g*"‘ ) 0w

i e

&}Wm “*“v“ﬁq mzmﬁm~ _ v
B IMradi Df{h-.. (WO congantric cireles ate 3 cm und § em, then the fcmzéi Uf ea.ch l:h(lz'd ().F oRe _:
-. cm:ie svhich & ¥21l1]2[:11§ t0 o*h:rm T N T e
{n}4mzz : A em L
{c} D“i:rn {d) 22 crn

*9 ¢ém, then the ]cngzh cl‘ Ld.El'l i'mgcni is cqua! o N
{a) 3JM Lm K SR _':'..' 3'(1))' G;Jf'fl_ é.:'n'z} o
- {c} J_ cm - -,_____Ed’) 2J3 em -
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- ﬁh- i Ewuz‘c PQ gind PR are mnwcnzs to the cirele with centre (0 such that: r_’QPR TU° iiz‘.,n
: -"_f_-'.(,(}Qst cqsm! m e i e e

\....'{R.}: agE -
el A5

S Quesuon zzzzmbers TN ih‘ carry 7 ;.nmiv mc&

' ii. Find the roots of the following LQUG[%OEI

' SRR TR T 1

o x+3 cx~B 30 o » e g

: lZ. r‘\ h.m containy ﬁ red baifs; S, w!}ltu hd”\. ‘% grccn bai!‘. uml G h .lr.'k b“l[x Onu h'ﬁ] drawn b

: r.mdc}m from: the bag. Find the pmb.:bzizz;. that the bai% RN . s

(z} red o black {if} not grcm Sh : _

23‘ iff[(u» 6y B2~ 23 .md C{ 5} are iize \-Lrll(:t‘s ufa zmnu¥ ﬁ.ﬂ(ﬁ' Fnd {hr: tengthof lhn.___‘

' mt.dhm Lhmugh Al .

C o 140 Thisingirele of MI?C muchtx ihu sides IJ‘C CA ind »!B at !J' L'an{%{ r(.spcclm,i& {l'
pz’mu.:hatHD CD o sl -

B'. N . c

4 LA
t\m Dfm; nppmzic qzdca g ‘;hnwn r‘h E“gurc Hﬁw inuch asea wsii h-. Ict't unr:uvr:rc{i ? [Talu_ T = T
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- cube. -

B "IJu,n ﬁnd the coord:m:cx of (.-

_ Emthe figure, sectors of two concentric vircles of radii 7 em and 3.5 em are piven, Find the drca of
the shaded region. :

- 16, D“It..l'mtl'lL the ratio of thc miuznc of a cube to that of'a Xphu‘c '&hif:h will x: itilv t:t lﬂ"‘-ldL the.

17 Find !hc arca of 1hc qizad niazemi whn-,e '.c:mws:'m, .»1(0 03, BIG: 0. ({4, 1} ;md Dg{) 1}
18. Find the sum of all two digit natural numbers which when divided by 3 yiclds tag rc;_namdcs -

Qifemmz ;Zfz::;berv 39 t 78 canry 3 marks each. e T
=195 Two dice are thrown stmubtameousty. Wh’li !S thr: probnhzizxy zhat
()" 3 will nat came up on-either nfzhurn Do :
. {3y 5 will come on at least one drc 3
Sl Ry 5 will come on both’ dica"’ ' o RO
' Il'l* Zn Egun.. OP is :,quﬁ w dmmczur GE i?zc cm_ic va:. lhaz ABF is an Bqud:l(uf"li t

ZL Sﬁlw. mr X

RN Y
BRSO .2(2I IJ
: .t+3_ :

”\mi,{

i3 ;..mj g=g;;<n:mh:|t1m~3 X ':-i;“

n:.o

II'C sa pmm i}mg on xhc ‘iznc t;cgmunt Aﬂjmmng AL %} and (2, 33 su;.h 1imt ‘biC CB

Find a m?atmn bclwccn X :md ¥ :f ihr: pum § {1, i} (1 2} zmd (7.0} are L()ﬁz{%cz‘lr :
N 23. Draw 4 circle of radivs 4 cm. From a pcznf P, 7 cot from the centre of £hL, szc}c, dr.m a pair ﬁf'
o L:ms:cnlb He zizu czrclu Mcasurc the ]cm:th o£ cm:h zangent q-;.gsncm
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"4. A gsqmm‘,MJ'C';{JI s mambcd ina c;rcii: 0! r'ldeua 2{] e, Find the arcs of the chrcle not nu.hzdu!

I. "'m zha_ xqzhm R L ELR U “dkL D
'\f N :

o ' "5 A som.r is ‘TU m hzgjh IIS «hadow mxm aﬁomr whm :hc Szzn 5 Jit[tudL i 43 th.tn w]scn ;{ ;c;
S 30g Find x comect (o the neagisst em. - - . : SR
- 260 The'sum of n fefms of an AP, whmc ['zrxi ;crm is 5 ‘zml common (J!iTI:I‘I:nEL is 36 s equsl m thc
" sum of 2t termis of another AP, whﬁm. first teri is 36 .-md comzon difference is 3. Find . -
Show ihm ihr., sum ofnn A, P, whuse l'm zerm n d, {hi’: ss.cmld tcnn i and ﬂ']t. last tenn oy is t_quai -
Sy pre=2ay s o
e b ea) o S IR :
. CATUAglass oy ]lﬂdLl’ with didiicter 26°¢m hag watcr (o' height of 0 cnn A mcml cuha., (}t g cm'ed;:r:
s iunersed in i cumpIL[LI_'(. Cafeutate the hefgght by which water will ris ia the cylinder. -
2R The: mn"dm‘ztu of thi’ Lcnzmzd of i triangle arg (1 » sud bwo of its verices a {7 0 aug
o ."-"(3. 53 Find the thisd vedtex; Aho Fnd {i}L Coﬂl‘dinfliﬁ‘- ot thc u..mrmd nf {hc 2nanﬂf}u whcn thc ;hu’d
--.__\mm‘ms{ 4} W o _ : SRR

Queszma Ién‘.l??lf}f’r‘t ?9 ter 34 carry 4 ma n{s each _ ' K
- 29, From (e top of a building HID'm hzgh the ﬂgics uf dcpn:%ma of thc top and lfotwm of @
T tower dne obsirved 1o be 457 and G0° ecipectively. Find the hr:;ghz of the: tower. A1=c1r 11nd zhc d stince
S bctwclzzz iht, ioot crf thr: huzidmg .’znd ihc b(ﬂ!on‘ of the iuw:.r i
: SR B 7
. -_ Thcrr., are (Wi polus 'czn** r::].ch on m{hct aitk OF a river, }U‘sl uppnszic ™ c‘zch mhut One p{)
©. 60 mhight From the top nfthsf- pote, the ahgles nl'dc.pn,ssmn of the fop and the foot of the oths:r pnh., zm.
30" 'md 60“ re%;pe:.{zvciy [-md {he wzdzh of thc. nw.,r .md ziu. fzmghz of othcr po%c‘ \' =
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- A solich right circular cone af diameter 14 cm and height 4 cm i melted {o form a hollow
hi:mzxpht,rc. TE the external digmeter of the hemispbere is 10 e, find its fotemal diameter. Also, find the
totaf curved surfice area of the hemisphene, : IUsie v = 3.H4)

31. A coptract on construction job -,pcc;i'{:s a pcn.;iz:, for detay of completion beyond a certaindae
as follows ¢ T200 For st day, T 230 for second day, ¥ 300 for third day and 3o on. Il $he contretor pays,
T 27.750 a8 peoalty, find the number of days for whish the construction work is delayed.

32, Prove that the tengths of tangents fiom an éxtersl pmnz Fioacircle are cqzm]

Using the above prove the Tollowing s

In figure, B4 and PD ase tangents from an externat pomt P i 2 cirele with centre O, !..N mtzdm the
ci%”i.[c .1{ M Prcm: [haz PL + LM I’N+ .’;M S

© 33, Some studends planned & picnie, The total budget for lood was T 2.000. But 5 students faifed 1o

~ attend the pienic-and thus the cost af. facd for cach member invreased by, ? ‘?0 How nmn}' \zudcn&
 attendod the' pn.mc ‘and Low sauch. :.r.u.it student pay for the foad 7 S S : '
o 3 A penstand piade of wood s i the shape of a cvbmd wvh i‘uur mnzcal ﬂnpnhszi)n‘s (@ hnid'
. ptn*» The diriensions of the C‘I.lbDEﬂ ace 15 cm by [0cim by 3.5 em, The radius of Céch ui‘ rhe .Jme\\mm'
is 0.5 cm and the Jcp!h is 4 Lm‘ anu Lhc vo%ume uf \Lnod in thu uum stand S ey

10,

. . I}, ‘t:‘-r-‘zijl',-rm}-_ o 22‘.-: : .s
13 .L‘:“Eiﬁ Ol'zhu l"[ll.dl..ll’l through

Educatlonal Material Downloaded from http://www.evidyarthi.in/ "
Get CBSE Notes Vrdeo Tutorlals Test Papers & Sample Papers




6, G:m - WL zs gq wnits I8, 1605
R R Secimn o

9, {E) (u} 1L {z;z) M% : ‘;'.’.l 1&«» !{]_ o_lfx m-_-_-_j«_ Cor A

2 S7sem

250 3G mG0em o 26. w=10. 27, 1.6¢m .:‘
SR LR AT ' T

ST . : Scctmn ‘D’ R . _
29, qumnce hczwn,en zhc f@o[ t‘rl'iZze hu:]dmz il.l"ld lhc boiium of im&cr 5 51 ’ﬂ W dnd hcu.h! of ihe:_
- fawer = 42 2? m Or W'ﬂ;h cf the river = 2[]\;'_ 1t and hubht of zizu atter poie = 0 m f_

_“S;udt.nt*; «zzcmh.d lhc ptz.mc = 25 gmd wch xwdmt pazd lnr the food ?‘ Sf] e
'_'_'-:_:1’3353 Lm L : : C

| ","(:«wﬁmma 3 ]r:zn 3 Or ﬁcm, 26376 em®
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